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1 ZLEBRYR (R A FRA F] 15245.96 JeteiE 7
2 BIEK (I Al A BRAT BR A+ 2261.24 JetetiiE 1
3 INEALRNELE ) (I A RA A 2194.67 Jete s 1
4 RIS (R AR 7] 1413.12 Je Atk iE 1
5 TEDNZ2 A5 it B 52 i AT FRA 7] 86779.06 Je et iE 41
6 TRINFE IR U 58 A4 DB AR AT BRA ) 1830.65 Jetefiie 1
7 DRYINR S+ T3 95 A PR 7 7641.93 T e iE 4
8 TRINJT T35 55 A BR 2 7 2141.16 Je et e 1
9 TINFEREE AT R 2 7 1306.1 Je e 1
10 TN TR A BR A ) 1830.65 Je et iE 1
11 DRI TREA R BB AT FR A 7] 1425.51 JetetiE 1
12 TRYIKS B S BB AT FR A ] 2243.43 JetetkiE 1
13 TR EE 58 A1 [7] 7 5247 FR 2 ) 1830.65 JetetiiE 1
14 TRONGE TR AR HAT FR A # 1430.46 JetefiE 1
15 TEINZRB R AT IR A 1837.25 JetetiriE 1
16 TN 2R W 28 BEHEAT BR 2 7] 4093.68 Jefe g 3
17 PRI % %2 AR FRHEAT BRA A 1359.61 Je AR IE 1
18 EINTTAA B AT IR F 1837.25 Je et iE 1
19 GYNT AR AR BR 2 7] 2826.24 Jete s 2
20 RN T A8 o 28 BB A PR 1418.07 JetetEiE 1
21 TROITT SR K AT BRA ) 15480.26 JetetiiE 8
22 DRI J7 35 v i A R 2 ) 1732.59 JetefiE 1
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23 TIN5 iR IR B RHECA BR 2 7] 11608.73 Je e 7
24 G A BERHEAT BR A 7] 1830.65 Je et iE 1
25 RO 75 R A Ml 4 38T B =] 2405.37 Jete s 1
26 BRI A 83K 52 55 A BR 2 7] 23049.31 JetetiE 15
27 DRI AR A Al 48 PR 1 BR 2 ) 1413.12 Je et iE 1
28 DRI A3k ) 2845 IR 23 7] 3661.3 JetetiE 2
29 TEOITT a2 Al 23 T A FRA 7] 3661.3 JetetiriE 2
30 TROITT G258 A Ml I 55 A7 FRA 7] 1418.07 Je et e 1
31 DRI 2R B T2 04T FR A ) 3182.14 JeAethiiE 1
32 PRI A IR 2 KR A R 4915.5 JetetiE 1
33 %ﬂllﬁﬁﬁﬁigﬁgigﬁ@ﬁﬁ%% 1730.93 AR )
34 DRI AN 55 Jost 1m) A BIR 2 ) 10352.33 Je Atk iE 6
35 N EAME BRHATBR A 7] 6584.01 Je et iE 4
36 PRINTIT it 3 88 B A R A ] 5491.95 RIS 3
37 GRYNTH AR 228 BE A s AT PR 7] 16518.81 T e iE 9
38 TROIT KR B5 BERHEAT FRA 7] 4718 Je etk e 2
39 DRI TS A BR 2 7 1413.12 JeAethiiE 1
40 GYNTH SHERE AT BR 2 7] 5006.19 Je et iE 2
41 NI ARBA PR 2 7] 1837.25 JetetiE 1
42 G PR SE a5 A7 PR 2 7 2619.64 JetettiE 2
43 INTTEIRBHAT IR A 7 3661.3 JetetiiE 2
44 TRIIGH A, F B BR 2 7 6080.31 JetefiE 3
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45 TRIIHTIR MR BR 2 7] 1830.65 JeAetkiiE 1
46 N = 205 BHARATBRA 7] 1413.12 JetetEiE 1
47 | EE AR A BRA "R A 3674.5 JetetiE 2
48 DA A5 SR (I A R A 1830.65 JetettiE 1
49 Btk i 2 B 5 5 (BRI AT FRAS ) 2310.51 Je et iE 1
50 FERMABLER) (G ) AR A 2194.67 JetetiE 1
51 e B (BRI AR 2622.1 JetethiE 1
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